Ao

=

oo
i
i

=
K

D a<b @, ax(-9)>bx(-9)
@ a2b?—l‘ﬂ1,—6+§2—6+§
® a<b?~—_1‘lﬂ,—ia—2<—ib—2
@ a>b%]'”'ﬂ,g>g(?},c>0)

® a>bd W, 5-4a<5-4b



=

oo

=Z Hd =
= H54

o

AR

ujm

H A27

Da>0¥8 M, ax>3 = x>§
a
@ a>04d W, ax-4>0 = x>

@ a<0gdd,ax-4>0 = x<

QI &~

@ a>04d ", ax+3>0 = x>—§
a

®a<0¥8 M, ax+3>0 = x<§
a



9 ] 9
“x3+5 <-%+3£ﬂaﬁ7}3(§+1> > Bx—2

of st 22 ), a9 ghe Fohw?

3.  xof BFHEFA 2~

33

21 22 23 31
©-> o-= o0-= o-- o-T



< ——- == e )(; 7 [q
o) Z(x‘)\ o] ]
= U™ 1 1 3 s O
2| s




=

oo

F 2549

5=
rel

o $& 727

Mo

© aE32t A7 gt »a=3

@ x o] 3ufollA] 2 5 W gf2 7 Hep AV 2o 5 3x-2<7

@ Aol a AA A6 7HE AEY 22 grol 1000 € ofstelct.
— 6a < 100

@ ykm 72E A% 60km 2 7PH 3 A|7HECH 2A A2k
y
&0 >3

® A 200 F 5 FeAgol x HY wff, oJ5HY = 100 HETH

2k - 200 - x > 100



@ x>1

D x>-1

® x>-

@ x<1



— |

— |©



o2 S50 BAIS Eolsty] tir ofofy] BAoltt T
S8 we @ S nE Zee
a< 09 M, ax — 8a > 2ax + 10a & AASHH
AW 94 o]ge SlobAM. x7h Ol gt gl Fom.
W5 1% A S —ax > 1847} 2.
AP ¢ al 250lUZt —a > 0 oI AT
A4 1 o} g G407 - a B PHOR e x < — 1
7 o Ay ‘
8] IEoHH x < —189] HETL

@ A+ @ 7Us O Ad @ A& 6 A3




